_wlm_%_uwwfu) - -
WA_u)mA depends on postion

gk Tdea. Traoce +he valve of a(x,zs)_aimr_a_umn_b‘, X1£))
' in +he A-X plans. Define

L h=ult i) ]

=dh =Jy +0u dx
dt A ox di
If ﬂiﬂ"C&‘) Phen
U dh = v =0 |
d*

U is nstimt alm};ths...wryﬁ‘_

; Mmm*ﬂs__}u;m_d_A_M»bm Xl o _
| dx = clr) .

/%3

IS G Clhoarsetoristc Corve fre Uptc =0

HM S

Up+ x0x=0  v(fx)=$(x)

i Th‘-_ﬂumzﬁnsﬁx_mm_ar:. ;.u!h:\ ) h/j

% =x

= )(lj:):lS:;—r W)Lm, K 35 O fonsdunt. s
X(#) .

| N ’\)Charqt«}zc};ﬁc Curyes -

_\ 13 Consdant.
= \\




;\ a A~/
BETAWA LW A NN

- I A Qe ~¢ ¢ || 2.
#=0 S 2=\
SD ¢ 0 4\ eneral So\utiom We Know +hat s
_ij@n:l"_algulv toeves of +he Form
A)=ce?
= Lﬂ)(h" A=C | ﬂ%agﬂm Lor ceuﬁors)
fe SO : =4 (Ix)-4.

U(:l‘/x)zi,(j.(lx\)%).

-

ns

Lo x)=9.( 4 HAN)=F(x)
= o(x)= LX)
Tktr&%rej

U{%J x):_g(c,k.(lx\)-;f')
=$(xe?)

_g}_l_tck..
Ug ==X ?'t-SI(XC’*)
U’x_ = f“*—?lxe't)

_ Theeekore, ypaxu,=0. Also

ufbjx):-ﬁ—(xc°>=-9(x)
- | B ) T )




u,t xux D, ulo,x)=4(x)
Al ==X | X
At |\ o
o x % )
%X(f)"’i ‘ -— sese—— — v_ :;~ :u}_
{24+c . L £
7 7
£
. ) V(1)
) - _
/1\; /(\\ \
| i ‘ . )
I | B l ) Hl % X
o L A£=0 .-.;l o

A+ izlr 1&'—"—"1 19 bgppgd +o
x()=

'A+ +=0 2&"{1%12-5 This lies alo

n;;th_‘ chevacteristic

2
A+ j‘:L %=1 3} ¥ MBI?L‘.( +0
XL \l \ =

\[ 24/, _S




T T

U4 AU =-U
_ Chavacreris+ic toordinete. SutisFics
AX =
A+
= - L+C
2

__let zZ=X- ’EZ]_ =4,
=> 00 =0y & 400 9% = 40 +Ju.

-

ok 0Z ot 3T o 0Z 3T

QU -.z)n & ~ éz

OX 072 oX 0oZ

= Ur=-U
< [

=y, 2)=q(2)e"

= v(Z; ,x):_-/ (-t )X,




